((secA)? — 4 (tan A)?) * (3 — 4(sin A)?) = (1 — 4(sin4)?) = (3 — (tan A)?)
Reveal the brackets:

3 (secA)? — 4(sin A)? * (sec A)? — 12 (tan A)? + 16 (tan A)? * (sin A)?
=3 — (tanA)? — 12(sin A)? + 4(sin A)? * (tan 4)?

We know, that (sec A)* = (co.:A)Z

__ (sinA)?

Y2 2
So (sinA)” * (secA)” = (cosa?

= (tan 4)?

3 (secA)? — 4 (tan A)? — 12 (tan A)? + 16 (tan A)? * (sin A)?
=3 — (tanA4)? — 12(sin A)? + 4(sin A)? * (tan A)?

3((secA)? — 1) — 15 (tan A)? = —12(sin A)? — 12(sin A)? = (tan A)?
As we know 1 + (tan A)? = (sec A)?
That is why (secA)? — 1 = (tan A)?
3 (tanA)? — 15 (tan A)? = —12(sin4)? * (1 + (tan 4)?)
—12 (tan A)? = —12(sin A)? * (sec A)?
(tan A)? = (tan A)?
1=1

Proved
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